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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

7.0

6.8 1

6.6 -

6.4 -

6.2

6.0 -

arning: col

[’ PHC' ,

"FVIPH' ]

is missing

10

20

30

40

50

60

70




Plot [['FVOPH:r—o',

"PHO:g—o’ ]]

7.0

6.9 -

6.8 -

6.7

6.6 -

6.5 -

N

l I Warning: col ‘[' FVOPH'] is missing l } ( M
o-0-0

" nr-

Ul e

0

10

20

30

40

50 60 70




Trend plot forP3-9 0
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P3-9

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS R

06:10 283 150.0 2.888 FA| 1BRi%@06:10 B3h (KA{ERSE)
08:15 283 150.0 2.888 (£ =| 1Rig@08:15 Bz (KRAEHSE)
08:50 283 150.0 2.888 |Z=| {Ri%e08:50 Bz (KEAEZEHE)
09:25 283 150.0 2.888 (£=| 1Rig@09:25 Bz (KREAEDSE)
10:20 283 150.0 2.888 |Z=| {Ri%e10:20 B (REEZBE)
10:55 283 150.0 2.888 |Z=| {Ri&e10:55 Bz (REAEZEHE)
11:30 283 150. 0 2.888 (£=| 1Ri%e11:30 B3 (RAEDSE)
12:15 283 150.0 2.888 (£=| 1Rige12:15 Bz (RAERSE)
13:00 283 150. 0 2.888 |/hfu| {Ri%e@13:00 Bz (REEZEHE)
13:35 283 150.0 2.888 [|/Iiu| {Ri&e13:35 Bz (REEZERE)
14:05 283 150.0 2.888 FA| 1BRi%@14:05 B3h (KRAHERSE)
14:35 283 150.0 2.888 FH| 1Ri&e14:35 Bzh (GRAERESE)
15:05 283 150. 0 2.888 |Z=| fBRige15:05 Bzl (RAERESE)
15:50 283 150.0 2.888 (Z=| {Ri%@15:50 Bz (FRAEHSE)
16:40 283 150. 0 2.888 |Z=| {Ri%e16:40 Bz (REEZHE)
17:25 283 150.0 2.888 |Z=| {Ri&e17:25 Bz (REEZEBE)
21t 4528.0 (16)%) 2400. 0 3203 KEC: 2080.0, PH: 5.8

HERRHEME STEAERT (184.0 : 147.0), AIgEMF—RE XAH45
BRI\ SEBRIERE147.0 ml.
#[EKECE (1897.0 vs 5037.0) 45
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ET (ml/hr/plant) ET (ml/hr/plant)
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P3-9_0, Day=68 (2025-06-09)
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Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-9

BfiE) | GEBAK (R | EHME (EHRH/HK) | ERERE (/R | XK R

07:00 283 150.0 2. 888 = {RRiB@07:00 Bz (RFAEEE)
07:30 283 150.0 2. 888 = {RRiB007:30 Bz (RAKEE)
08:00 283 150. 0 2.888 F|  {Ri%@08:00 Bzh (RF{EESE
08:40 283 150.0 2.888 F  BRi%e08:40 Bl (RAERSE)
09:20 283 150.0 2. 888 S| {Rig@09:20 B (RAMERSE)
09:50 283 150. 0 2.888 E BRi&@09:50 B (RAERE)
10:20 283 150.0 2. 888 F[ BRi%e10:20 Bz CGRAERSE)
10:50 283 150.0 2.888 =l {Ri%@10:50 B3 (RAERSE)
11:20 283 150. 0 2.888 E BRige11:20 Bz CGRAERESE)
11:50 283 150. 0 2.888 S {Ri%e11:50 Bz (GRAERSE)
12:20 283 150.0 2. 888 =l {Rig012:20 B3 (RAERSE)
12:50 283 150. 0 2.888 E BRige12:50 Bz (GRAERESE)
13:20 283 150.0 2. 888 5| {Ri%e13:20 B3 (RAERSE)
13:50 283 150.0 2. 888 = RRiB013:50 B (RFAKESE)
14:20 283 150. 0 2.888 E BRige14:20 Bz CGRAEREE)
14:50 283 150.0 2. 888 5| {Ri%e14:50 B3 (RAERSE)
15:20 283 150.0 2. 888 =l RRiB015:20 B (REAEESE)
15:50 283 150.0 2. 888 =l RRiB015:50 Bz (REAEEE)
16:20 283 150. 0 2.888 El BRi&e16:20 Bz CGRAEREEE)
16:50 283 150.0 2.888 F[ BRige16:50 Bz (GRAERSE)
17:20 283 150.0 2. 888 Sl 1Rige17:20 B3 (RAERSE)
23t]5943.0 (21)%) 3150.0 32803 KEC: 2080.0, PH: 5.8

HERRHUEME STEAERT (184.0 : 144.0), AIgEMF—RE XAH45
BRINSEPRERL144. 0 ml.
HERECE (1927.0 vs 4797.0) 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=67 (2025-06-08)
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P3-9

BfiE) | GEBAK (R | EHME (EHRH/HK) | ERERE (/R | XK R

06:50 283 150.0 2. 888 = {Ri%@06:50 B (RAERSE)
07:20 283 150.0 2. 888 = RRiB007:20 Bz (RAEEE)
07:50 283 150. 0 2.888 F|  {Ri%@07:50 Bah (RF{ESE
08:35 283 150.0 2.888 F  {BRi%e08:35 B (RAERSE)
09:20 283 150.0 2. 888 S| {Rig@09:20 B (RAMERSE)
09:55 283 150. 0 2.888 E 1BRi&@09:55 BE1 (RAERRE)
10:25 283 150.0 2. 888 F BRige10:25 Bz CGRAERSE)
10:55 283 150.0 2. 888 =l {Ri%@10:55 B3 (REAERSE)
11:25 283 150. 0 2.888 E BRige11:25 Bz CGRAERESE)
11:55 283 150. 0 2.888 S {Ri%e11:55 Bz (GRAERSE)
12:25 283 150.0 2. 888 = {Rige12:25 B3 (REAERSE)
12:55 283 150. 0 2.888 E BRige12:55 Bz (GRAERESE)
13:25 283 150.0 2. 888 5| {Ri%e13:25 Bz (GRAERSE)
13:55 283 150.0 2. 888 = {RRiB013:55 B (RFAKESE)
14:25 283 150. 0 2.888 E BRige14:25 Bz (GRAEREE)
14:55 283 150.0 2. 888 5| {Ri%e14:55 B3 (RAERSE)
15:25 283 150.0 2. 888 = RRiBe15:25 B (RFEAERESE)
15:55 283 150.0 2. 888 = {RRiBe15:55 Bz (REAEEE)
16:25 283 150. 0 2.888 El BRi&e16:25 Bz GRAEREE)
16:55 283 150.0 2.888 F[ BRige16:55 Bz (GRAERSE)
17:25 283 150.0 2. 888 S| 1Rige17:25 B3 (REAERSE)
23t]5943.0 (21)%) 3150.0 32803 KEC: 2080.0, PH: 5.8

HERRHUEME STEAERT (184.0 : 144.0), AIgEMF—RE XAH45
BRINSEPRERL144. 0 ml.
#H[EKECE (1877.0 vs 4573.0) 15



P3-9_0, Day=66 (2025-06-07)

150 Fo—————F——————F——————F——————F——————F——————F——————F-—————f——————F- o]
VI, V&¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 3128
2700 - 3000
42486
100 12300 9175
- 2000
50
- 1000
182 Warning: lcol ['FVI',|"FVO'] missing 40
-0
~ 452 5
T
= - 50. 0
ey
= F47.5
= - 45.0
[
F42.5
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.8 ¢
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 7
= 400 J Bylnit @D70 02:03: ET=2375 Fg=3000. 0 Ro=649.0 i‘4000
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< 200 1 i - 2000
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= | - 1000
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3 400 g | BB | BB i | B | g | BB g | BB | B i 5 5 5 i 5 5 5 i 5 5 5 i & [ 4000
c 1
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> 200 - - 2000
E
= - 1000
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1
% 200 - 1 A - 2000
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= | - 1000
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0.8 4 M8 5 5 i 5 5 5 i 5 5 G A B 5 G A B 5 G A B 5 G A
0.6 -
0.4 1
0.2 A
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1500 A1 —_— 4
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1000 —@— PPFD_obs

500 A
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—— RH
o RH_obs
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£

FRV (

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=435, FV0=0 m=470, FV0=0 m=505, FV0=0

49.5 A
5 | 474 —&— ME —e— ME o o ME
49. 0 50. 0 -
50 46 48.5
49.5 -
48.0 A
48
45 4 |
47.5 49 0 -
46 -
47.0 +
44
44 46.5 - 48.5 1
T T T T T T T T T T T T T
400 600 800 1000 435 440 445 470 475 480 505 510 515
m=585,m FV0=0 m=615,m FV0=0 m=645,m FV0=0 m=675,m FV0=0
—&— ME —&— ME —&— ME —&— ME
50. 0 50. 5 A
48 - 49 -
49. 5 50. 0 -
47 i
48 49.0 49 5 4
48.5 A
46 - 49.0 +
47 - 48.0 +
48. 5 +
45 - 47.5 +
48. 0 A
T T T T T T T T T T T T
585 590 595 615 620 625 645 650 655 675 680 685
m=705,m FV0=0 m=740,m FV0=0 m=775,m FV0=0 m=805,m FV0=0
0 —&— ME 51 0 - —&— ME —0— ME —&— ME
: : 51.0 51.5 -
51 50.5 1 50. 5 1 51.0 4
50. 0 A _
.0 50.0 50. 5
49.5 A _
- 49.5 50 0
49. 0 1 49.0
.0+ 49.5 +
Py 48.5 48. 5
5 - 49.0 -
705 710 715 740 745 750 775 780 785 805 810 815
m=835,m FV0=0 m=865,m FV0=0 m=895,m FV0=0 m=930,m FV0=0
.0~ —&— ME —o— ME 52.5 -— ME 52.5 A —&— ME
52.0 A
5 1 52.0 - 52.0 A
51.5 -
° 51.5 A 51.5 1
51.0 A
5 -
51 . 0 _ 51 . 0 .
50. 5 A
0 -
50. 5 A
50. 5 A
5 50. 0 -
835 840 845 865 870 875 895 900 905 930 935 940
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51.

51.

50.
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37.

37.

36.

36.

35.

39.

38.

38.

37.

37.

40.

39.

39.

38.

38.

37.

m=965, FV0=0 m=1005, FVO0=0
—e— ME —&— ME
5 52.5 -
0 52.0 -
9] 51.5 -
07 51.0 -
> 18 | | 50. 5 15 . .
965 970 975 1005 1010 1015
m=470,m FV0=0 m=505,m FV0=0
0 -
—— MW ®l 300 —o— MW
5 -
0- 38.5 -
5 38.0 -
0 -
37.5 -
5 -
T T T 37 0 T T T
470 475 480 505 510 515
m=645,m FV0=0 m=675,m FV0=0
39.5
04 —@— MW —o— MW
39.0 -
5 -
38.5 -
0 -
38.0 -
5 -
37.5 -
0 -
645 650 655 675 680 685
m=775,m FV0=0 m=805,m FV0=0
0 -
—o— MW —o— MW
5 40.0 -
04 39.5 -
5 39.0 -
0 - 38.5 A
5 38.0 -
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805
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36.

36.

35.

35.

40.

39.
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38.
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T
600
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T
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590
m=705,n FV0=0

T
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b
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33.

38.
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m=435, FV0=0

M_w

440 445
m=615,m FV0=0

650 6é5
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7&5 750
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m=895, FV0=0 m=930, FV0=0 m=965, FV0=0 m=1005, FV0=0

—— MW —o— mw | 4197 —o— MW —— MW
41.0 4 41.0 A
10 41.0 -
40.5 40.5 1
40.5 - 40. 5 A
40,0 - 40.0 -
40. 0 - 40. 0 1
305 - 39.5 -
895 900 905 930 935 940 965 970 975 1005 1010 1015



